1. Question: (@1 SAs(G fom 7Ye?

A) STFeT
B) &oNISE
C) &5z

D) &IeTsT

Answer: B) S5

Explanation: - S15Td, $7917 93 Tofee] % F4 o “T7” TANSIE Tj970 Tq®| - AT
TSI 3 “S1” TS e I FFPT FE | SS: IR SRF JFl, TIN-TT CIA, T ¢ 9

2. Question: FILA 51FF A (FTQF ALH 0=

A) fae rdte
B) SR ANEP
C) faare-faa1t
B)RSEGERIC)

Answer: C) fax-fTat
Explanation: |35 ATeT (St 9) TGN SIHET ST (FTF 6P | - 95 SRS ST
73O I 92 FIRMAF (FU| OIF fHE NG SE® A1 47 (FIQFII Toa1| - AT Gfs 93

RTINS TR

3. Question: MF PNFIH @ A0 5% (R:

A) Ff1PTOT FHATIT
B) ST W& G
C) IO TETE JJT
D) st forata F=ra

Answer: B) SIS HEF 1T

Explanation: - 'S8t 5@ I (s»00) N TETH RN FANIA [ASF SAASIANTS J641| -
(74T IO NEE TG AHF, AAGIE, TENHF FAihe 472 (R TGS NISER [dfoF e,
TITE 3 T ACHT QT HERS 4 SAF | (FF T (SO T ST FERA | - SIS
AEAFTOA] ST, Fo1 (T, SICTF, RIGIT AT, AAOFF, TRFF, FNGI 20510 FATNCIH
ETS (T BOEF ©IFe] % FI1 I7|




4. Question: '(uREIZ' 8 ‘(B NIF" F19 I6A1?

A) 3T =TT
B) (STTeTeTy ol

C) F™EN 35,

D) 1S ANCIRS I3

Answer: D) 18T GRS I1F

Explanation: IS INETRE 1T 60 5% (@NRTE 8 (FUE | FS IHNENRS T @ aFEE
ST, 5T 8 &3 FES | Tornz o A FAGFIE S (T T e | O1F 6w ATy S%; - 7
9T - (ST T2 [REF (T FNFT TR GFeT TGN BN: IR ST 8 NfRey fFwT (.
SIECIGEE))

5. Question: YEIa GG SHNIT "SASET T FTF T6aN1?

A) IS (T
B) OTAW XTI 2%
C) *18F9 35N
D) 2N SNZEw

Answer: B) G735 05 3%

Explanation: G131 (SR SIME 97 [eRNF % 76| O afbe 27 ‘293 SIReEE" 93
SAATISIG |

6. Question: "SI3F (@ @AT FAGAMA HIEEF (F?

A) IS (X

B) IIesta

C) JoN g

D) &fzg 37

Answer: C) Sjo1¥ Wg

Explanation: - 'S3 (A& (A3 ST I GG 956 [T f%a AT v 90 NEF So afFe
& T - TA%af NEIEE I e T8 97 wefifRe "Gl @ IRTAWeE NTer N

7. Question: "¥1F 5" -AF FToIF fF?



A) CIfFF FTToie
B) AE ANEFEa Fife
C) TS Ao
D) 8% SIqaw e

Answer: C) STTI&& SI57eTe!

Explanation: - 1S 64 A0 S@HF 15 I &f& | - @RS saying, proverb 531 IRAT Iq™ <
AEFHT AT STARF, fFF I6@F O T3 I 3 fo71 - sems, [, e 8 T =ws
SRS SESRIG2 ST N 6, (T3 SFH 6, NP I670 20w | - IR TP 3 AA1H S
I6EH AFE SuRAT|

8. Question: "JHTI" =G N AT FH1 (T [AEF (M6 T8I NI?

A) T + S
B) U + T3l
C) & + T
D) g + 1Pl

Answer: A) 7F + 93]

Explanation: 78331 T4t 355 Wiheme | 97 A% SfHfamw: 7z + T3 = 79377

9. Question: [T @FHED @fE FIETT SR 97?2

A) FAfER
B) 3@
C) Fafm
D) 99

Answer: B) @M%
Explanation: (5% 31 — f&IR (T I 43185 4Tgd 747 51, o1 (@ 7 J¢T| - (AN

FIETH (3T TSR Sy 3T &R S AT 71200 ToTT (TS FAF 77 VAR, V1P T Q@
TS RONE F059RT S0 |

10. Question: JFFES TPTE TS ToN S I AAFe FET (F?

A 3@
B) OTAW XTI 25
C) A= 5154



D) @3 5]
Answer: B) GTIW 5T 35

Explanation: Siaaie a7 (& fordereTa S o e - Jaed | orF FErer oo my
JECH - FITAR STFH | BTRIS] OIF YHFeF 3, [ofiF @a 1, F7 IRTF FF TEI8
[RISRIRCEZIER]

11. Question: "SEF" = AT 7Y (FAG?

A) TfFF

B) I3

C) -5
D) ef>&

Answer: D) GfF

Explanation: ST[es i o1 - =11 IR, TR T 9 - J1FT 57 TS0 F(F 97% fT57 71,
{1 T - M AT AT N TITNIT | ANoF, ST T T - el AFF AT |

12. Question: (F5 (ATEFIT TSI T b0 TF (FA(G?

A) =rarifer
B) sra=rer
C) STSIET
D) sTa=st

Answer: A) T
Explanation: - (35 (@I TRISTTE (AT J(60 'TAITST AF6 STBH| - ©F A ST o7 I

AT ST-SMBTFT IR O] - aff 938 T FFF@ 2F | (F5 (@@ T8O XS 66
AT 57%: - NSRA, - AI@HIAMGL, - Sultana's Dream 2yl

o N

13. Question: e AT T4 I IE@?

A) F9g =
B) A -5%
C) Glifer ==
D) snfestias

Answer: B) 9 -



Explanation: - 318 7 SR 4Tg 31 371 9% (-0 8 T 27| - AN o3 oA
@ Mot F T 27| - A JW N AF-TFM03 I F | - AP I ofwe ToT@TF TFhe a3
1@ R F3-TOVIF SFfo | TN SFI-FE, T. TR JB[W|

14. Question: "G (O1 B ST =fF 3% | NFI6O (FT FFNEF AHT T4 770 IFR?
A) STesTsf ST

B) 1@ 1F AT
C) "mral SI=[F

D) I3 qt Iy

Answer: B) ST 957

Explanation: - (¥ ST& S35 IV IS T 0T (FNA] AT T 777 o (@ THFONE ST FFT
FE OIMAR AAFA AT JET| - A ANT TSI A, S8, AW Fofe N@SRF TF10T T7FeT
FE| - (TN HF JF, B3, TG, oz Tl | - i (o7 ©IFF 57 =fF SH! TS I A S ATy
@ T TF (@21 12 Aft T I

15. Question: FEG AW FITF?

A) R 7 713
B) f&ee1™a S et

C) I@ IE A=
D) G GO (RS™®

Answer: C) I« 915 A&

Explanation: - 31 (3@ 3% fAg7e, oo, 70, 9IFE, 3379, ydloe 3 e 27 93 I (X (FS Ol
2, TIFL AT FIEP FE| (I - SR (A Aol AE | - G5 (V@ W 2| - (B GO (RG®R| - T
fI3@ 281 T3z IRAT ST BFIT, FIN-T7 I |

16. Question: "I AT FIE| ST SN (P @ 6?2

A) T FIRS
B) Ffaw1

C) 916

D) SesIS

Answer: B) o1



Explanation: FTS T 3G I ST ‘IRE-2ET (5»39) | - aft IRAT MRS o3
AT | - A8 Sbib Ta TA® - FIST TS ITAW FAON© ATTASIE FNEHF-TET SAAT ToeAl
BF FEA| - aft e SrFe AaFT FARFeE 31 2| - AaFE FF1re 28IF STHT FSP
A7 9f6 T 3F FEA ANF-TET 3 ORFET | - FF TNA-TAT ACR TP TI1S 2| - STHITF
IS [P QT | - ST BAES MY AR - AT, IEIT, (T, NI |

17. Question: (FHG FTORT ILIRT SHIRIA?

A) TS
B) (AT
C) arfIx
D) FTeA1pIe

Answer: C) arif3¥

Explanation: (¥ 323HfR TN 96 9%a AT o 97 STSIT 76 (IR, O JfeF I2 R ST
| (TFA: - AN MO (T IF = ADFNI | - FIA PN (T FAT = FARBIA| - @I (FIE (T e =
(PITIPITI T2 SIHN-FHFT, . TATS AP

18. Question: 'ABT'- 9T TAF 1% (FAG?

A) ©llv

B) (3@

C) o™

D) st

Answer: B) Gwife

Explanation: S8 &g SNF 5; - Fqe, - TTF, - AfF, - A%, - T - (T, - FIBfE TSH
IREAT AFTC SATSHT, IRAT ST FRHT (TATS TP[W), IR SF A 3 foifoffs, Faw-wry carfer
19. Question: o1 Aoy (F fRET?

A) TSI TATIfS

B) ASv® A8

C) SRR T

D) IR IET QFIWT AFS

Answer: B) I8 151

Explanation: IR 2fSRI0T (AT ToF (@ FI0T To@ FT6! NI IRA (INF TG I S



SR SEITST (T (Ffer a2 &N B 8 (oN-72 Ve FNTo1 FHIF Sy AFG 2 FHT
CTarifed [Tt AIHE Tored SRR IR 2fORT 'IE QAT I AfHfbo|

20. Question: 'Hand out' - 93 8% IRAT AfFSRT 7%
A) J7a

B) a6197a

C) o¥1a

D) S17es1a

Answer: A) 337a

Explanation: Hand-bill = S618*a Hand-book = ®X3{¥%1 Hand-out = STa-Ta Handicraft= 31d
[S3: ©1- <11, . TIATS W3]

21. Question: FTel *WF N TFfeT -

A) FfF TP T2

B) ToId NEFF

C) 1w ST ST

D) GTAW X[ 3% A6 F1e F41 3A®

Answer: A) 3fF TSI [RATH

Explanation: oY S@f® 617 o &3 fAfen st Ko siavmes §i3f6 w51 Tfiael JaH@ oo
A | - I R TN HR(SS, - JSI TAFTH FAF1, - (7% AT SR TR0 A3 - 7% <Y
7% WIR0es FHTe] TR 7S FE |

22. Question: STy 3 BfeT® ST JeT T (F1 =7 ([ (@ (721 17?2

A) faoTs 8 fa
B) faerer 8 faam
C) ATy 8 Ao« M
D) f&Fam 8 e

Answer: B) fq0mer 8 {2
Explanation: - 1§ SI¥ {3719 8 SEAR =% 9% A0 597 %6 O 5| - bfere S 73w 8

S 79 AHIO® 8 RS FF e FF | - Jodk, 92 76 MF feTer It WY 8 tfe s
ST f7fT F1 T




23. Question: A person who believes that laws and governments are not necessary is
known as-

A) a militant
B) an extremist
C) a terrorist
D) an anarchist

Answer: D) an anarchist

Explanation: Anarchy [Uncountable noun] English Meaning: A lack of organization and control
in a society or group, especially because either there is no government or it has no power.
Bangla Meaning: &F15T; SAGel; fye|

24. Question: He went to hospital because he had ___ heart attack.

A) no article, an

B) a, an

C) the, no article

D) no article, a

Answer: B) a, an

Explanation: School, college, market, bed, hospital, prison, mosque, temple, church, court

RN 335 STHCT ((IBT (TGTH 37 ff¥e) F592® 2T (F1 Article J07 411

25. Question: The word 'florid’ indicates

A) flour
B) foliage
C) floor
D) flower

Answer: D) flower

Explanation: Florid (Adjective) English Meaning: - having a red or flushed complexion. -
excessively intricate or elaborate. Bangla Meaning: - Siejf&& ARPO,; ARFIFIRT,; T, HHPIE,
FT65: florid carving; a florid style. - (SIS JX33) FoIT© 1, AEITS; a complexion. Source:
Oxford Dictionary, Bangla Academy Dictionary




26. Question: Complete the following sentence : 'Had | known you were waiting outside, |

A) had invited you to come in

B) would invite you to come in

C) would be inviting you to come in
D) would have invited you to come in

Answer: D) would have invited you to come in

Explanation: Had | known you = If | had known' So, Sentence b Perfect conditional/ 3rd
conditional. ®12 3T clause - 4 Sub + would/could/might + have + V3 + extension & | a7 5157
J15: Had | known you were waiting outside, | would have invited you to come in.

27. Question: A soporific speech is likely to .

A) be incomprehensible

B) appeal primarily to emotions
C) stimulate action

D) put one to sleep

Answer: D) put one to sleep

Explanation: Soporific (noun), (adjective) English Meaning: Causing sleep or making a person
want to sleep. Bangla Meaning: fm&a (*m1¥, "N 2@51W) | Synonyms: Tranquillizer (fmr
SmFFIET 33Y), Drowsy (&%F), Sleepy (f@r; fowrgd). Antonyms: Stimulant (SHI%),
Invigorating ((GST%g; (Go/T; SSEWNF). Other Forms: Example Sentence: ‘It is very often
necessary to give medicines like vitamin tablets or soporific tablets.’

28. Question: Select the world with right spelling-

A) Schizophrania
B) Seizophrania
C) Scizophrenia
D) Schizophrenia

Answer: D) Schizophrenia

Explanation: SIf8& I T Schizophrenia. Schizophrenia(noun) English Meaning: A long-term
mental disorder of a type involving a breakdown in the relation between thought, emotion, and
behaviour, leading to faulty perception, inappropriate actions and feelings, withdrawal from
reality and personal relationships into fantasy and delusion, and a sense of mental



fragmentation. Bangla Meaning: &5 (FISTACT M@ {681, oo 8 FIEF AT T Ao
%o 27; [Foe Tifeel; eaNaFell Source: Oxford Dictionary, Bangla Academy Dictionary

29. Question: Love for the whole world is called-

A) misanthropy
B) misogyny

C) benevolence
D) philanthropy

Answer: C) benevolence

Explanation: Philanthropy (Noun) English Meaning: The desire to promote the welfare of
others, expressed especially by the generous donation of money to good causes. Bangla
Meaning: NEIE; (AFRIGFTAT; FAEIT|

30. Question: When we want to mean a government by the richest class we use the term-

A) Oligarchy
B) Aristocracy
C) Cryptocracy
D) Plutocracy

Answer: D) Plutocracy

Explanation: Plutocracy (Noun) English Meaning: Government by the wealthy. Bangla
Meaning: &f¥sETST sfdFea| Example Sentence: The attack on the Bank of England was a
gesture against the very symbol of plutocracy’

31. Question: Hospitals the sick.

A) operate
B) nurse
C) admit
D) treat

Answer: D) treat
Explanation: Hospital (Noun) English Meaning: an institution providing medical and surgical

treatment and nursing care for sick or injured people. Bangla Meaning: SIITsI5;
A AEed; TS|



32. Question: The warning of the authority falls on deaf ears. Here ‘warning’ does the
function of-

A) adverb
B) adjective
C) verb

D) noun

Answer: D) noun

Explanation: - The + verb+ing + of = verbal noun. - Verbal Noun 27T Noun a5 $18 ¥*¥q 27| -
warning 95 & the 8 & of IR | AwaF 22T 9F16 Verbal Noun.

33. Question: The word 'culinary’ is related to-

A) printing

B) musical instruments
C) dress

D) cooking

Answer: D) cooking

Explanation: Culinary (Adjective) English Meaning: Of or for cooking. Bangla Meaning: STaES
ST AP | Example Sentence: They are giving leading restaurant reviewers the
chance to demonstrate their culinary skills.

34. Question: Identify the correct passive form of the sentence below : ‘Do you Know
them'?

A) Are they known by you?

B) Would they be known by you?
C) Are they known with you?

D) Are they known to you?

Answer: D) Are they known to you?

Explanation: - Active voice (¥ Passive voice- 4 F&E& f93: - Active Voice a7 object &
Passive voice a7 subject J + Tense Wﬁ’r Auxiliary verb + 3 verb a7 past participle + Active
voice 97 subject fb Passive voice 99 object 27 AR ©1F 333‘ Preposition (By, with, at, to ,in) (71 -
919 known a9 919 preposition to 592w T |



35. Question: 'Panacea' means-

A) gland

B) pancreatic

C) widespread disease
D) cure-all

Answer: D) cure-all
Explanation: Panacea (Noun) English Meaning: A solution or remedy for all difficulties or

diseases. Bangla Meaning: 59 5@ (@15 a1t 334, 519 Y F6 (NEET ST |
Synonym: universal cure, cure-all, cure for all ills, universal remedy, sovereign remedy, heal-all

36. Question: what is the plural number of ‘'ovum'?

A) ovams
B) ovumes
C) onums
D) ova

Answer: D) ova

Explanation: ‘Ovum’ is a singular number. ST§TF9® singular number 47 CTE um YTH plural
FATF ST um (F a TR I FA® 27| The plural number of ‘ovum’ is ‘ova’ o f&31|

37. Question: (T *F5IMG fox?

A) False , True

B) Sharp , Blunt

C) Abundance , Scarcity

D) Love, Affection

Answer: C) Abundance , Scarcity

Explanation: Abundance - ETQ’J‘ Scarcity- A6 False - 3127, True- @Y Sharp - $13F, Blunt-

(®Tel Love - SIETRTHI, Affection - (5571 Love 8 Affection 2T SIS =43sTe | Sa3fui, A1fF foafb
ST OMNF Al |

38. Question: ‘A christmas carol’ is a by charles Dickens .



A) ballad

B) sketch story
C) historical novel
D) short novel

Answer: D) short novel
Explanation: - "A Christmas Carol" is written by Charles Dickens. - Charles Dickens
(1812-1870) is generally considered the greatest novelist of the Victorian era. Charles Dickens's

other famous novels: - A Tale of Two Cities - David Copperfield - Bleak House - Great
Expectations

39. Question: 'There was a small reception following the wedding: The word 'following'
in the sentence above is a/an

A) noun

B) adjective

C) adverb

D) preposition

Answer: D) preposition

Explanation: Participle preposition is a verb ending with -ing', '-en' or '-ed', which also acts as a
preposition.

40. Question: which of the following words has been formed with a prefix?

A) aspersions

B) authentic

C) amnesia

D) amoral

Answer: A) aspersions

Explanation: Aspersions- F51%21®, A1 WET6411 Authentic - ¥161 Amnesia - S 37 STyl
SYRSfAETTI Amoral (a+moral) - SAfeF | (G 5 3% T a (=without) prefix e F|

41. Question: (FTHGHFG (SHIET TF NOF RES T (FTAG?

A) Lieaftenant



B) Leaftenant
C) Leiftenant
D) Lieutenant

Answer: D) Lieutenant

Explanation: - Lieutenant is a Noun word. - The meaning of this word is: A rank of officer in the
navy, above sub-lieutenant and below lieutenant commander. - Origin of the word is : Late

Middle English from Old French - Lieutenant *=f6a 1o 31 FHG oW A (TARfEaa
A, [THATAG] (AMRAT THIT AT |

42. Question: 'To be, or not to be, that is the question' is a famous soliloquy from-

A) Macbeth
B) King lear
C) Othello
D) Hamlet

Answer: D) Hamlet

Explanation: - Hamlet is a famous tragedy of William Shakespeare.

43. Question: 'Geriatrics' is the branch of medicine concerned with the diseases and
care of-

A) newly-weds

B) old women

C) newborn babies

D) old people

Answer: D) old people

Explanation: Geriatrics (Noun) English Meaning: The branch of medicine or social science
dealing with the health and care of old people. Bangla Meaning: Wf@ﬁ?ﬁﬂlasaﬁll Source:
Oxford Dictionary, Bangla Academy Dictionary.

44. Question: fAEa TG J(F1IT <1 (F1F6? Finger : Hand :: Leaf :

A) Flower

B) Branch
C) Tree



D) Twig

Answer: B) Branch

Explanation: Finger 3% 15je Hand o1 21 Leaf 91X =TeT Twig 97 ST S5 A1 2Mw, el AT
OIeT| Source: Oxford Dictionary, Bangla Academy Dictionary.

45. Question: 125 (V5)2x =1 T x 95 ¥4 F0?

A)3

B)9

C)7

D) -3

Answer: A) 3

Explanation: 125(v5)2x = 1 (¥5)2x = 1/125 (V5)2x = 1/(N5)6 (V5)2x = (V5)-6 2x = - 6 x = - 3

46. Question: nC12 =nC6 (T n A9 V| $97?
A) 12

B) 14

C) 16

D) 18

Answer: B) 14

Explanation: nC12 =nC6 nCn-12=nC6n-12=6n=18

47. Question: I 5>x9 = w8¢ 972 8%© = L,¢30 TJ B, YXL = ?

A) wo8o
B) ¢o8o
C) Yoto
D) 8ovo

Answer: B) ¢o8o

Explanation: 5%g SNFIISFS STaer FAT MO 9 x 7 =7 x 9 — (7x5)(9x5) = 35454 x 3= 3
x 4 — (3x5)(4x5) = 1520 AF3OIE, 6 x 8 = 8 x 6 — (8x5)(6x5) = 4030



48. Question: FF ToFAT 10% F 1000 SIF1F 2 T2 79 AT 3 bH (% JAHIH TAF F97?
A) 11 513

B) 11.5 B1&T

C) 12 BT

D) 10 B3

Answer: B) 11.5 5137

Explanation: 5%3(% Ja1%] - ¥9 o151 = (C - P) - | = {P(1+r)n- P} - Pnr = {1000(1+10%)2- P} -
1000 x 2 x 10% = {1000 x 1.21 - P} - 200 = {1210 - 1000} - 200 = 210 - 200 = 10

49. Question: FfG AT F*T® 7: 5 93 B A.51.3 140 (T AT G36F SI.1.8 F7?

A)9

B) 12

C)6

D) 4

Answer: B) 12

Explanation: %5 ST ax a3% ITAMT X 2T, B0 A.51.8 = wax aJ% ST.9.8 = x TIH(©, 90X =
580, SJOdNR, X = 8 Glﬂlilﬁ, .. = 8|

50. Question: 2x2+5x+3 < 0 97 NN (FAG?

Answer: B) -(3/2) < x < 1

Explanation: 2x2+5x+3<0 9T, 2x2+3x+2x+3<0 1, x(2x+3)+1(2x+3) < 0 91, (2x+3)(x+1) <0
TSNS SNfeifos B ey TF I (I AB6 TS NWF AT TN A5 (NF (=B 2T (2x+3) > 0 9T
(x+1) <0 x > -3/2 4T x < -1 JAAR -3/2 < x < -1

51. Question: IF (FTF A JTIH (A REG T U@F So Fb, INe: 57 IR 20 Fb , O
A 20 Fb 9T NICTF T 20 Fb B B ST (R A 8 B 9T FNFIF 777 F0 J5?



A)\?)olEE
B) 80 %b
C)30%b
D) So Z&

Answer: B) 8o 3&

Explanation: BCS_10.PNG

52. Question: C = {x:x THF T 932 x2< 18}; C (NGF TAASE 2R-

A)1,2,3,5

B) 1,3,5,7

C)2,4,6,8

D) 1,2,3,4 a6 fee Fa1 7@®

Answer: B) 1,3,5,7
Explanation: 3eTsI& TS0 (6 = {-1, -2, -3, -4, -5, ....... } x2<18 18, C B TAWH = {-1,
-2, -3, -4} O3, AT T9G A SO NOF T6 (A3 |

53. Question: 936 ATSWEF WHf S (T 972 % So (I ATSEH@ET WEf Ia FE@ ¢ (Y FAT
N NS T Fo A (Fa%hd TfHINGe AFE?

INERYSIES
B) a.e If3r
C)acify

D) 9.3 (5

Answer: B) 9.@ (Y

Explanation: I3 (F@ (Fa%T = b X b0 = Yo J@d (Fanad3 dbo (© T | SJoIR dQd T3 =
Sbo/¢ = 9.}

54. Question: TfwW2x3 =812, 4x5 =1620 3T ©F 6 x7=?

A) 1214

B) 2442

C) 42
D) 2428



Answer: B) 2442

Explanation: 2x4=8,3x4=12; 812 4x4=16,5x4=20; 1620 6x4=24,7x4=28; 2428

55. Question: |1-2x| <1 a7 SN1HT-

A)-2<x<1
B)-1<x<0
C)-1<x<1
D)0<x<1

Answer: C)-1<x<1

Explanation: |1-2x| < 1 (3 a1 ®IGT {FT2- AT MR, —(1-2x) < 1 < (1-2x) A 9R7 §F M3,
—(1-2x) < 1= —1+2x < 1 = —1+1+2x < 1+1 = 2x < 2 = x < 1 fFoF ;7 4@ TR, 1 < (1-2x) =
1-1<1-1-2x = 0 < =2x = 2x > 0 = x > 0 YOI TP IF@ FAET TR0 < X < 1

56. Question: 0.8%o0.03%0,0k=?

A) o.0b800

B) L.8ooo0

C) 0.b8oo00

D) 0.000y8

Answer: A) o.04800

Explanation: 8, X 8 & 8 FI( 2T Y8 AT S+3+3 = ¢ TFF AT FANF IHT 0.000b8 |

57. Question: fA®T &9 SIRMT Jza7?

A) o/t
B) /58
C) b/SS
D) ¢/v

Answer: B) v/58
Explanation: 5% 96 foi@ 3§ 1 T 89 FJCT MR 3/5 x 5/8; 24 < 25, 18 fFel3fb 361 Teiy 3

©oIAb @ 5/8 x 6/11; 55 > 48, 71} GSIfG 76| 9317 G613 3 v@¥fG e 5/8 x 8/14; 70 > 64,
1 (@8 fFeiaft 73|



58. Question: 1/V2, 1, V2 ...81A1f67 @ 5% 8v2 F?

A) 53 B T
B) So ©¥ M
C) SSs o
D) 93 oW

Answer: B) So ©¥ 74

Explanation: 93T T57W, a = 1/72 STHTE =T, r = V2 & r ©F 79 (& = 8\2 FF3(®, arn—1
8V2 a1, 142 x (\2)n-1 = 8V2 a1, (v2)n-1 = 8V2 x V2 T, (N2)n—-1 = (N2)6 x V2 x \2 JT, (N2)n-1
(\2)8a,n-1=8..n=9

59. Question: %6 437 Sto BIF AT FAT 0% HS I | GJ5oT HI3T _

A) s> BIFT
B) 350 BT
C) S} 51T
D) 200 BIFT

Answer: B) 350 5191

Explanation: 10% 5fste fS&T31 100-10 = 90 B1FT 90 B/ fT3¥ F1 2, FIF feT 100 BT
1 B AT T 3T, FIFETF =T 100/90 51T 180 BIFT AT F47 7, FIF f&eT (100 X
180)/90 BI&T = 200 B1T

60. Question: HfST® v BT IS O3 FGIF F161 8 FIfGa FoE FF6! (F1 Fo G2 7@?

A) do0°

B) »¢°

C) voc°

D) syo° A6 TS Fa1 @™

Answer: D) b5o°

Explanation: SRS (F1e = 0b0° - {(bo x H - 8% x M)/3}° = 040° - {(Yo x & - 3 x 0)}}° =

WL0°-380°% = HR0°

61. Question: fAET @G ENfTF T22m?



A) b8v
B) v9
C)
D) 89

Answer: B) v9

Explanation: 2%, 9 5191 31\%]6“; 589, SS BIET IO, 9, © JI9T IO | AFAE 89 (F Iy (FA
SR205T BT ©T5T FAT T JT| 1R 89 FAMfG (NfTF 22w

62. Question: SUOIH (I AMHX AF?

A) 8@

B) RADTE
C) JIfHE
D) TRE &

Answer: C) SIf3©

Explanation: - NETRTSIE I(® TRETEEH ST 41.03%, ARG 20.95%, IS 0.1%0%,
SATAT 0.85% AT T STITTRA AN 0.03% | - TOIR T I, U@ ITSI0T ST (FAEH
ATHETS (T NREEHAR A AF | O~ SN 3 SR, FIH-7 (i |

63. Question: IJFITTH NI FF 5I3© 27?

A) 52 3 af8eT | 59y
B) 59  aff e, v
C) 58 2 affeT, 29y
D) So ® affie, 295

Answer: B) 59 % af5e, $39%
Explanation: JF&as WAF1F (&7 SREETAE Sy 3© IRTAIWCTR S FTFEA| - 529 ST 3G

16 TS (AT 7 o AT 9 TIFI STMF© 21 - S T 59 fHT CIRFT (ST TN
STICT [T AT T SR FH |

64. Question: [GSFINT TFEf6F | TSN a6 TFSAT JT1] 205 Y A IFS F-Toa M
SEIA@EE F (Y @A TG TS @ (07 (770 =e?

A) AR

B) &



C) sfifa
D) 2e1fel =af 1o a1 2@®

Answer: D) 2o

Explanation: {6 S3FT 'NPaf6F 7' | AT TN 3T ToF 939 AT 3FFY 7| B,
Tad (w1 7 1| TSR (3 F1© MEN | 3% T - AR

65. Question: 'SIFF (V@ (@SIT SAMGALF AFETF (F?

A) SIS (2T
B) SIS

C) S[o g
D) &if2g I3

Answer: C) Jo¥ 13

Explanation: - '3 (¥ (A3AT ST T GG 956 [T 5%a AT S0 T So afFT
[F NI - GA%afs MNEFNEFF AR [ 28 97 IBARS oo e IRAWETE THTor T

66. Question: @M (ST ABLHfOF F=1F (1 ©Ed NG RAT?

A) SHFeE™

B) MaAw (AEIW)
C) s5aam™

D) IFII™m

Answer: B) %AW (AEIW)

Explanation: - &S (5157 2 (51 fYafF 8 orftafod ored 9% §FeF e SFIFE1| - 93"
AFEE (TFFIN A5 S TSF TN TF | AR (6 HeNHel [ | - AFIAW (Realism) HNTHM&H
TE(E - (ST R Ff] @ (T 9F 7T Fe@ 93 THTF JIN2 TIE | "Realism

theory describes international relations as a zero-sum game that is if eitherside wins, the other

must lose." T35: fFEIfA=T

67. Question: FrI-fF Y (966 SO Ea (FINF qfFe T@w®eT?

A) THIA] RS
B) CTNE SIS
C) ==l (3

D) (<T@



Answer: B) (919 IS

Explanation: ¥ (IGH (DFTG FFT 932 Tod (FIHIF (FoT fFF 3k AF-97 JEY I TShIe
F53o FoEE ST S 9376 1t S1FT @6E Iqfde 3|

68. Question: (F (WCTF STei¥ WY 5-5% A 8?2

A) T2

B) Sia

C) g
D) RERICEIE]

Answer: A) TR
Explanation: - Yooy NIeTa Sk Sl FrEmeniE@ st 5% AR - e (e wusfb (:28fb

THEIET 3 880fD o FEF) AT ST TA®| - AT ANER 3¢% STHEF TR o TqFo |
OISA;- GG (O |

69. Question: ‘YT ToaT" a7 YOS fF?

A) CIfFF FTToie
B) E ANEFEa Fife
C) TS Ao
D) 8% SIqa¥ e

Answer: C) STT&1& SI57eTe!

Explanation: 3a3 I64: ¥d1F I64 [N IA@F I35 1 OfF | @R saying, proverb 531 IRaT
W =7 A@FL] AT TR, & 6@ 013 T3 [T 3 fod|

70. Question: [S3FAT TFfGF | TSN A FISAT T 1] IRTACTT 205%-5> TIIET
IS IEG IMAF THIF FOYOF Tely F© IqTH A2 ?

A) 5,93,000 (FIG BIFT

B) 4,99,000 @G 51T

C) 3,90,000 (FIG BIFT

D) 4,95, coo (FI1B 51T A6 Ao F1 27T ®

Answer: D) 5,95, ooo (FI16 BIFT



Explanation: 3G S3FFa SFofed T | SXTFE SIS N0 God 239 AT SFTf a7 | TR,
TBF (T T 1| - 5710 2035-303% ANATRET IO ANHF SHIA F35Y6(0 TAHa AT 3,3¢, 1038
@16 BT I (NG IEHEA 0¢.¢ ToRT| - HFSHE 97 u.¢ TorT| (S3a: ¥ [T SEWITRL)

71. Question: 35T "SWPRET FACTATT (F/H [FIIF T0T L6572

A) IREH6F ASIHT A6

B) SeSIfeF NS w3yel

C) o fagger

D) 73] SuFeRTa wrfafes Fife IR

Answer: A) JG9IeF AfSTHT dife

Explanation: 3IIPRG FA675T (Washington Consensus) The Washington Consensus - T
SR PF 2w, NI TG 3G ANA6F AST (T - PIIR-F, MR.A7.9%, U.S. Treasury Tf©
FOF AENG Fho™T (T16) JSISTH (free-marke) A e =T I7 0T TFITHT (W7 9T

T CIHFTI (7 TR ANA6F SHIEF & Tt |

72. Question: I[EY&F T (A-FAS 5I5© 2 (FT CTTF fA@?

A) > T CTod
B) b M (BT
C) v N (®F
D) So o (o F

Answer: B) S W (% F

Explanation: - 9% ST $5% AfS JET5T TIF1F o AFEITAT LT SNy 5307 (FE w6fo
(o BT FE| - AFNET So A (N F R AFH@ (@ (FoF | (W0TH W3[T A7 8 (@17 fae 93 (187
STTo fRET1 - So T CTBE (F1 [NARIe BT FASIT Gl A1 - F3T (T (TBF AT ATSTTT
BT 2T (R (FEEF FASIF So R (TEEF FATSIE WY Ao FA@ | O]~ IRAAGAT|

73. Question: FNRE I& FE@ NHGw TFRA?

A) T 33, 5909
B) S 38, 99
C) T 3¢, 99
D) T 9, 599

Answer: B) 3 38, 599



Explanation: - 3¢9 TR Y© I IRAF F1F NI 93 TG F13S (FogiEia 26 35

(P FRAF M ST Jo KA 27| - SN TH Sl ST TSN A ® 92 I
IR AT TS 2 972 97 HET IR THAoF T e 271 - IRTF T 37 T2E@F RES
@S SEoNe ]G | O¥a:- IRTAECTT 2oz 8 fgserer, J-77 Cfe |

74. Question: JSANEG T I JZaT ST (FINF?

A) B
B) ®1F%
C) F1ETST
D) 338

Answer: A) Sl

Explanation: 2059 STETR R0 ST IR I« nfenag TH foa(® (77 202 IT=0
FIARGT, (AT 3 S| ag S Fifang ¥ fea6 (77 2= INTEE S, T 932 F1ATST|

75. Question: SNYF B3 SRR THISI (FIAG?

A) I T STHIFTT

B) 23 fqym TSI
C) =TBIa (@ a1
D) SYoo-SNoo NI

Answer: D) Sboo-Sboo ST

Explanation: Sfs MBI 1T FNEIE MIFAMS (58L>-5¢39) TSI FIE AT TT
AHAE SHIRT FEA| - SFEA [AfoTaTe afeanes 97 T fofd o7 Pt 7F 1 53 (Saoz)
oA FEA| - i 357 @ MFACSAT MBI T IISE 90 @@ - oo 7T o
A3 I TA®, 97 T FEA@HS, 7 SAHorg SI' Aefvos |

76. Question: NFEYT (FINT STF 97 4 7T Ffe 3J?
A) 9T

B) o™

C) (Sl

D) (5ol

Answer: B) fe@er

Explanation: - 58 (TC6IT v o ST Ifefd® 8TF (Organization of the Petroleum Exporting



Countries, OPEC) 27 &Sl Sud %3 FI1e 27 SPRIFNNSH (S| - TIISN® SD L JE
A7 g wYF AFEIF fe@a© TR 27| ©[a:- OPEC a7 SFITNRG|

77. Question: SIfes:ES 'Champion of the Earth' (Xe1d=13 (F7?

A) fRenf3 $i6a
B) (&S (3
C) A& et
D) ¢4 2IfSiaT

Answer: D) CT¥ TIfSiaT
Explanation: - United Nation Environment Programme (UNEP) - (3% Champion of the Earth

TAHIF S0 S ZH| - S, IREOCTH T CT FTAT 205¢ FET 92 TIHH 7S FER |
Source: UNEP website

78. Question: [GSFIAT TFEfed o1 TSN a6 TASAT 77 1] IR e FF Aes
(W5, T, NI, AIFHR) AW F© TORT ?

A) $8.95 TOR¥

B) S TORT

C) S o™

D) v MoRT A6 Tifee Fa1 2@®

Answer: A) $8.99 OR¥

Explanation: 3G G330 SFAfod T | SYFFTF STNIF NOF Sod A4 SNF SR 7| IRATT
NG STAFT-20% AT, - S FA AMEF FF0E 189 ToRT| - F AMe e
TAGTS! 80.b TORT| - fSfEHte Fg AMed JTuE 8.5 ek - g Ao Ao s=endt 0.8
TR - HEPIe CTaT AMET TTU ¢5.¢® TOR| - (T A® ARG FAETS 0.0 TR

79. Question: > I I TAPF FNANF ARVT GA-T TONATGF (S =2

A) 3Ta¥ a7 3

B) RIS F3rTelret

C) 1 (afgTeTe

D) AFTSTH-T=T

Answer: A) 2345 a9 3 (UNMO)

Explanation: - NTIRET &S FHNawa! TRIYT GREW (Mahathir bin Mohamad) $>3¢ ST



SR FEA| - OTF ANATSS (S6 ST AT | - fSfA S5 %S N (A 2000 ST 577G BT 33
IRF (oA T R | - STRFSIS A Ao 7 fSfa 208w W AT 16 o foyey
sl 1S 2| - 2030 NETH (WP IINCO fOfT THTHIAT 77 (A THeTST FE | - JoIR fofel 2
TSI (TG 38 T NI SHIwa] foaceter | S fABifera1. o Spas 220 @Iy

80. Question: I57©3 U Y (Pl NI(T1?
A) SDod ST
B) 5253 I
C) S0 ST

D) 55 ST

Answer: B) 5253 NI

Explanation: - $»0¢ ST b AEEF SFEAI IGAN6 TG FIS (e IRAT (IS (ST 761
ST FES TN ‘e A A | - FE T 3 7971 IoerE $iF [FEfEer F@ a3 Iy
ST BF FE | B (G0 NAFTF 100 77 FA© 1K 2T - 9SS N FEOEE 76 fE@H o
TGS o =193 & fufeite 57e5 FE (TR (W1 | - T8 B SDSY NETA S AfEeT AT 98 IRl
aFfae =T |

81. Question: (NG TeTeT TG SO (FT?

A) @ER®E T9F SIE

S ERINSIERINCIERCIG]

C) TTawa S

D) BRI 8 3TN A0lT Oi|

Answer: D) ERRfSrT 8 3OO Taig i
Explanation: - RT3 WA 1619 sTete1 GIeMTGNT Fevel 91'('\}?@1‘(3' RN 8 BRI 901 SIE| -

TG FAM F1ET JIF R AT FHIIST AP | - AT GIOTTGRAT TONT NI (I AP 281
3 AT S 9% P F35e 932 % AMFNE Nerold AQaud RE 471 =7

82. Question: IRACIE TH fIGFAS AT (Wl (F?

A) N E

B) STGIF S3Tw
C) TS
D) F1gafe

Answer: D) AN (IRTNECTH I [F61a911S @17 (eY)



Explanation: - FYTEE >¢(S) o[(=u S FZRNN AZANS FH FEEe@ [&@IsT (we | - o857
FRETRAOR ST PP STefyTary fATT=foma Vst (w1 | - fRETasihe fReT fera S Jyaes w1
T EAHIG ATGONFE T (W07 A6 [T o w7 = e A1 fosve] TTew 2| A

FRATT T |

83. Question: ST &7 [FIONF 77 [AwT FHG?

A)I®
B) SifGeT
C) 3foeT

D) sia«
Answer: D) s1geT

Explanation: - ‘N& T@d [3578te 7% o, Sfod, = | - ‘57 97 3573 7% ‘9@’ | a: IR SF]
8 Sifzey e, ©. CNfia 13|

84. Question: IRGELRT NHGH TS &= @1 F5T1?

A) fersiae
B) fe@an
C) *mfas
D) S G1BET

Answer: B) fe@dT (Vienna)
Explanation: - (R F5131@ (774 & 5 5@ To@ (@R SR 61 23| - wwo 5

FHTISTET SIE (TR ST LT TN FROTT TG FABIAC RS AT FABIBETTT
ERIGERREEEIRR]

85. Question: (HI@Gi(Folketing) (FTH (WCTE AR o172

A) TS
B) (I3
C) 798
D) (G

Answer: D) (Gas&$

Explanation: - (CA&T IRATSTT A (BIF63 | - AN, TISTT ARATSF A SHIAGI | -



TS A SRS : AGHIPLT| OAA:- IR (TISENF SRl

86. Question: Cozy Bear 3G fF?

A BE
B) 74t
C) fA@me@4
D) IF1F BT

Answer: D) 1?19 5 (Hacker group)
Explanation: - APT 29, also known as Cozy Bear - hacker group (may be connected with the

Russian security service FSB). - The group has been linked to the attack on the Democratic
National Committee (DNC) during the US election campaign. Source: BBC News.

87. Question: [O3FAN TFHfeF TY| TSN a5 TIEAT 77| ] TG T 057 AZ (FA6?

A) JfG s

B) ferferar

C) SIreTEferan

D) (@& =96 e FaT T@®

Answer: D) (@131

Explanation: {6 3T 'NFaf6F 7' | SAAFIF SN W3F S8 949 AT 3FFYH 7| B,
TR (T 2 11 - NATO FHId® aFf6 SHfEF (36 JT 358> META 8 Af%e sifde 27| - MEE
ST sty Sxf61 - IR, @A 8 FAETRIR TG IS oy 5712347 w0ofb| - Tad
ST AT IO ST | - RO VGG A7 | - Q% 3 A AT FICIGS T (7] -
TG AT (FASICE FICTT AIFS | - TSN FZHOF (S SHEradTs |

88. Question: TSTEH V1 FNO] FTH T IJ& TT?

A) 5ftd

B) F1Z*fe
C) wat

D) eIt

Answer: B) Tigafe

Explanation: - IRATGCT AT TTFE T3 [A0A | 92 THf6te TBAGT AT (GOTF =TT
AT 273 TF© HAHOIT AP AT | - STl TRTACT TIFTH T 932 STOEH T3



F36] OIF (Fo0F Y& 2| - AT O1F IRET AF | ©IF (FHE2 NN A3 TS 27| S T3
ST fofay SfFsifaama e 2IorR I e i =& |

89. Question: TRTCCTT AN CT R FrS QT T FAIH ST (T TTHIF ToT?
A) Planet 50-50

B) SeHTIEF SBEG ST

C) Sfes g NfE JaFF

D) a9fGfE SMSITE 2080

Answer: B) FE6F So@Eb (G

Explanation: - W291% S SF$131a]( A5GT) 97 Seres SN Frsqey 7 FHEE Sely IRATTT
SAFIEF T3 (A CT4 BT 2080 FE MDG award 2010 e FE | - Serqy ARI6E@ [F
(TP 05¢ SE ST FEF ST AT T 3 - 932 205G N AT FAGTIE ST}
SaT FINTE S planet 50-50 SIFRFEE SSITE e FE |

90. Question: TP AT HF (SENET (P (WCTF TONAOF Tel?

A) ST
B) YRS

C) ®1F%

D) fmesia

Answer: A) STEERRT

Explanation: - STITNTES SITeFT3! (a1 912 W S[67 FONASP GETF AT ATTATT 15T T (GNP
(NLD)! - 205¢ ST (WIB(e efre 3 J3 SIETE dT6a | 908 TS I 91 W I 67 wef Ayprefet
fo15T 7 GENEERT (NLD)| - (7ifore [HeIFanas SteT STae fFd6d a9 23 578 b FeF4, 2030 4
{68 SFeTe F@ NLD | ST, S (M 203 RRTTIE THEF Sgra@d MEe (Taizar
(TIHF fATFT (@ 232 I [ S[B-52 A ATAN6F (A 3 FIFT ARATCTONF Ao FE |

91. Question: T Yool [AEF (F1F FFE [FTISHT fReT?

A) 7 affrEn

B) < anf%a
C) TS

D) S A ERT

Answer: A) 7% aff3



Explanation: - 37 Sfeve] fAATewTe feet I6I Jr F47 AHFFTH 93 8ol SA%eres | - =
SFIGIA SR (A T TSI Jal SF JT SN S, (I8, ATqTTema 933 THAN IO
TfEe TR |

92. Question: [G3FA 6T TF| ISAI A5 FTAEAT 771 ] TG FTOTH TRFG THT (FT
(W6 FTOIET W FolA0F F57 foe] FE A13?

A) IR

B) 3y =T Afae

C) frra

D) 3@ FAC Fifed Fa1 2A®

Answer: D) 319

Explanation: 3G 3T NPafoF 0| SAaF1H SIS WS Sod 939 T 8F9 7| ©F,
CRERCRIEG R

93. Question: @ T AAFT TIFE ‘ASAINOF F(" S M@ ET?

A) snfEaa

B) fu 3afG

C) iR

D) f15% O3 (S3FN)

Answer: B) fu 354t

Explanation: - MfF JEANET TIRF TS A58 T2F S N ¢ 8T IRTAWCT JSYwd
TR FOE COIF JFM FE| - 93 GO 35799, O I TN ‘Foafod I 1 TF6 97
Ao RE Afeze F47 27|

94. Question: $»8¢ N AFSHFAT NI OTREI (A6 FSIb Twshs [(H =eT?

A) to

B) 8

C)8v

D) &%

Answer: B) 8>

Explanation: - 8¢ S 80T STTF SNSTE N7 FIFE NN ADNVFSNE ST oS
21 - S8 TIETF 3¢ AfFT (VF Y I FFANET TABIBIHE TRE Ae|fo6 MBI NEHA ¢oft



eTg FfSfAfEwa SHf3fete oy Savw % 23|

95. Question: IRAWHT I G FIH SHNT AR?

A) ofo
B) v
C)¢fo
D) aft

Answer: B) vf6

Explanation: IRAWCTE ST (NG 96 OB AR - ST SHIT: Jya [T w8 FHFF
AR | - [FSIT SHrer: AP TA6d IO TG | - DOIT SHOTT: T 3 (FFAT| - TR ST
TIRFAT 3 ST FALNEA| - TPH 0BTz SIS TEF 92 WET SFF| - T oHia: N
CTFAT| - TGN ©Z el T ToTd (3|

96. Question: [CSFFIT TFEHfoF | TOAN A6 TFDAT q71] 205 T 7 =@ Mg
Ffows 3T @FE6?

A) Sy ST AoETN ©FfFT SIS

B) &1F6% @ “H1fone i

C) 531 g TG gt

D) 1Y SO FE (M2 FH6 TMeT F41 AW

Answer: The correct answer is: D) ST SFST@ & (W2

Explanation: 3G SSF1Aa 'SFafed 07| SATFH TN WF $od 94d AT F97f 97| B,
T3 (VT 2T 11 Y05y ST 9 ARET fMaeia sfesmws 2% 'SIsja 2165 3 % 14, &6
AR I, T T T I |’ 2038 SR 3 AT M0 20175 20 - FENCOE TP @i
97. Question: IRAMCT THANG IIF [AGH TN F67

A) vt I=F

B) wo I2g

C)xo =7

D) 3¢ I%F

Answer: B) wo JRg

Explanation: - ST ST 535w FTs 7% [ 1b® 28F TR FHTN H (FE3
AR | - (T AN TN T [0S 2TF Pavos 7 3¢ T2F| - AN [EIe 7w fFdfoe




9 i 9T 0 IR{|

98. Question: (F1F S BT ST S AT 247?

A) b3
B) v»w8
C) 595
D) s»vv

Answer: D) b»90©

Explanation: - ITGT% RBAIF S»w© ST SHF SIS 60 271 - S»8¢ N AfEeT
ArzeNE & G fSfa SRffad SIea e | - 91 Fiated ae@d a1 a1ss (Nazi) b1 - RemEa
(ST ferT AR (SFBIeN A1 AfHEw | - REER Srerdiala a1 Mein Kamph.

99. Question: fAFE e (@ [FE1F o1 & FAF 736 RAN@F @9 Feqram SEy T@=?

A) IR 9
B) S 38
C) o= 38
D) [T 33

Answer: A) Sle[%R1 :©

Explanation: - SeIaSTea! IRACTE SRIFHNET 33 T Ao AEH 1R o1 (3@ o7 [onw
RSIFACR FATTATI@R - 35, 30 8 38 T I FT I INTHE ALIMEF 3 TIFTAT FHGIA0A
FOIT, TSI B 932 TTSIY Yo fawfey srofed Fm|

100. Question: ) [G3FAIT TPHfEF TT| TSN A6 FORT FF ] IRATWCIT 205 -5 AT
G SRR aesfre o3fas 378 Fo?

A) 9. b0 TeR™
B) v.oo TeRY
C) 9.3% TeRT
D) 9.4¢ ToRT FH6 e Fa1 2@ ®

Answer: A) 9.vo e’

Explanation: 3G S3F1 'SFafod o | SYaFE TNIF A% Tod 939 A 897 97| ©F,
CrEEGRIETERI






